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	QUESTION
	SC

	Describe the main difference between the Waterfall Model and the Unified Model in Software Engineering:
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	Event based program design, in contrast to structured programming, gives the control over the program to:

· The programmer

· The user

· The main loop

· Nobody, everything’s out of control: panic !
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	To be able to react to buttons, sliders, etc., a JAVA program has to
· register a listener to a source

· register an event to a listener

· register a source to an event

· register a source to a listener
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	In a swing program, if a button (JButton) is pressed,
· an event is thrown that can be caught with a try-catch construct

· an event is fired, i.e. the JVM creates an ActionEvent object that is passed as an argument to the actionPerformed() method of all registered listeners

· a method actionPerformed() of the button itself is processed, calling the paint() method of all listeners 
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	The event registration in JAVA (-> method addXXXListener()) is a method of

· The event source

· The JVM

· The event listener

· The event
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	In Java, in order to be an event listener, a class must

· Implement an appropriate Interface

· Be inherited from a java.awt or javax.swing class

· Contain the addXXXListener() method
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